COMPANY DETAILS				EMPLOYEE DETAILS		# 1111
Webby 12/55 road Main city				Rohan Sharma Main city 12/55 road		
SSN		ı	PAY DATE	REPORTING PERIOD	EN	MPLOYEE
XXX-XX-1234		01/08/2024		12/25/2023 - 01/07/2024	Manager	
INCOME	RATE	HOURS	CURRENT PAY	DEDUCTIONS	TOTAL	YTD TOTAL
GROSS EARNING	GS \$10	50	\$500.00	STATUTORY DEDUCTIONS FICA-MEDICARE FICA SOCIAL SECURITY FEDERAL TAX STATE TAX	\$7.25 \$31.00 \$0.00 \$23.46	\$188.50 \$806.00 \$0.00 \$609.96
YTD GROSS	YTD DEC	DUCTIONS	YTD NET PAY	TOTAL DEDU	CTIONS	NET PAY

\$500.00

\$61.71

\$438.29

\$11,395.54

\$13,000.00

\$1,604.46

\$61.71

\$438.29

COMPANY DETAILS				EMPLOYEE DETAILS		# 1105
Webby 12/55 road Main city				Rohan Sharma Main city 12/55 road		
SSN		P	AY DATE	REPORTING PERIOD	EN	IPLOYEE
XXX-XX-1234		12/25/2023		12/11/2023 - 12/24/2023	Manager	
INCOME	RATE	HOURS	CURRENT PAY	DEDUCTIONS	TOTAL	YTD TOTAL
GROSS EARNIN	GS \$10	50	\$500.00	STATUTORY DEDUCTIONS		
				FICA-MEDICARE	\$7.25	\$181.25
				FICA SOCIAL SECURITY	\$31.00	\$775.00
				FEDERAL TAX	\$0.00	\$0.00
				STATE TAX	\$23.46	\$586.50
YTD GROSS	YTD DED	DUCTIONS	YTD NET PAY	TOTAL DEDU	CTIONS	NET PAY

\$500.00

\$10,957.25

\$12,500.00

\$1,542.75

COMPANY DETAIL	.s			EMPLOYEE DETAILS		# 1099
Webby 12/55 road Main city				Rohan Sharma Main city 12/55 road		
SSN		P/	AY DATE	REPORTING PERIOD	EM	PLOYEE
XXX-XX-1234		12/11/2023		11/27/2023 - 12/10/2023	Manager	
INCOME	RATE	HOURS	CURRENT PAY	DEDUCTIONS	TOTAL	YTD TOTAL
GROSS EARNIN	NGS \$10	50	\$500.00	STATUTORY DEDUCTIONS		
				FICA-MEDICARE	\$7.25	\$174.00
				FICA SOCIAL SECURITY	\$31.00	\$744.00
				FEDERAL TAX	\$0.00	\$0.00
				STATE TAX	\$23.46	\$563.04

TOTAL

\$500.00

DEDUCTIONS

\$61.71

NET PAY

\$438.29

YTD NET PAY

\$10,518.96

YTD GROSS

\$12,000.00

YTD DEDUCTIONS

\$1,481.04

COMPANY DETAILS				EMPLOYEE DETAILS		# 1091
Webby 12/55 road Main city				Rohan Sharma Main city 12/55 road		
SSN		P.	AY DATE	REPORTING PERIOD	EM	IPLOYEE
XXX-XX-1234		11/27/2023		11/13/2023 - 11/26/2023	Manager	
INCOME	RATE	HOURS	CURRENT PAY	DEDUCTIONS	TOTAL	YTD TOTAL
GROSS EARNING	3S \$10	50	\$500.00	STATUTORY DEDUCTIONS FICA-MEDICARE FICA SOCIAL SECURITY FEDERAL TAX STATE TAX	\$7.25 \$31.00 \$0.00 \$23.46	\$166.75 \$713.00 \$0.00 \$539.58
YTD GROSS	YTD DED	DUCTIONS	YTD NET PAY	TOTAL DEDUC	CTIONS	NET PAY

\$500.00

\$61.71

\$438.29

\$10,080.67

\$11,500.00

\$1,419.33

\$61.71

\$438.29

COMPANY DETAILS				EMPLOYEE DETAILS		# 1082
Webby 12/55 road Main city				Rohan Sharma Main city 12/55 road		
SSN		P/	AY DATE	REPORTING PERIOD	EM	IPLOYEE
XXX-XX-1234		11/13/2023		10/30/2023 - 11/12/2023	Manager	
INCOME	RATE	HOURS	CURRENT PAY	DEDUCTIONS	TOTAL	YTD TOTAL
GROSS EARNIN	GS \$10	50	\$500.00	STATUTORY DEDUCTIONS		
				FICA-MEDICARE	\$7.25	\$159.50
				FICA SOCIAL SECURITY	\$31.00	\$682.00
				FEDERAL TAX	\$0.00	\$0.00
				STATE TAX	\$23.46	\$516.12
YTD GROSS	YTD DED	OUCTIONS	YTD NET PAY	TOTAL DEDU	CTIONS	NET PAY

\$500.00

\$9,642.38

\$11,000.00

\$1,357.62